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1. Which one of the following is the smallest house number?

2. The place value of 5 in 87542 is

(a) 50 (b) 5

(c) 500 (d) 5000

3. The largest 4-digit number is

4. Which of the following is correct?

(a) 950 < 870 (b) 263 < 124

(c) 325 > 515 (d) 656 > 419

5. What is the page number that come just after the page shown in book

(a) 992 (b) 963

(c) 473 (d) 958

Numbers

01Chapter

4172(a) 4142

4412 4047

(b)

(c) (d)

4172(a) (b) (c) (d)9999 41729899 41721000 41728899



6. What is expanded form of number 7,564?

(a) 7 5 6 4+ + + (b) 7000 500 60 4+ + +
(c) 70 50 6 0+ + + (d) 75 60 4+ +

7. Which of the following is correct?

(a) Four thousand seventeen hundred twenty six = 4726

(b) Fifteen thousand three hundred seventy two = 5372

(c) Seven thousand one hundred thirty nine = 7139

(d) Five thousand nine hundred sixteen = 5960

8. What is face value of the underlined digit in the number given below :

1 3, 7 2 5

(a) Seven (b) Two

(c) Five (d) Three

9. Find the odd one out.

24, 22, 46, 57, 20

(a) 57 (b) 46

(c) 20 (d) 24

10. Which of the following abacus shows the number less than 4000?

Direction (Q. Nos. 11 and 12) A box contains 2 dozen bananas, 4 apples,

10 mangoes, 5 oranges.

11. The total number of fruits in the box are _____ .

(a) 43 (b) 33

(c) 24 (d) 27

12. If three more orange are added to these fruits, then the total number of

fruits in the box will be ______ .

(a) 30 (b) 50

(c) 46 (d) 48
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13. Ishan wrote a number on the black board as shown below

2 7

It is formed from three different digits, then which of the following number

could be placed in the gap to make it the biggest number?

(a) 0 (b) 2

(c) 7 (d) 9

14. Match the following columns :

Column I Column II

A. 4000 600 30 7+ + + 1. 4076

B. 4000 700 30 0+ + + 2. 4367

C. 4000 300 60 7+ + + 3. 4730

D. 4000 0 70 6+ + + 4. 4637

Codes

A B C D A B C D

(a) 4 3 2 1 (b) 1 3 2 4

(c) 3 2 1 4 (d) 1 2 3 4

15. Consider the following statements

Statement 1 678 rounded to nearest 10 is 680.

Statement 2 The number ‘2’ is only even prime number.

Which one of the following is correct about the above statements?

(a) Statement 1 is true and statement 2 is false.

(b) Statement 1 is false and statement 2 is true.

(c) Both statements are true.

(d) Both statements are false.

Answers

1 (d) 2 (c) 3 (a) 4 (d) 5 (b) 6 (b) 7 (c) 8 (a) 9 (a) 10 (d)

11 (a) 12 (c) 13 (d) 14 (a) 15 (c)


